

1 求 - t 2 (0)

問題 4.3 a 3

$$(1) z = \log(x^2 + y^2)$$

$$z_x = \frac{2x}{x^2 + y^2}$$

$$\begin{aligned} z_{xx} &= \frac{2}{x^2 + y^2} - \frac{(2x)^2}{(x^2 + y^2)^2} \\ &= \frac{2\{(x^2 + y^2) - 2x^2\}}{(x^2 + y^2)^2} = \frac{2(y^2 - x^2)}{(x^2 + y^2)^2} \end{aligned}$$

同様に

$$z_{yy} = \frac{2(x^2 - y^2)}{(x^2 + y^2)^2}$$

$$\therefore z_{xx} + z_{yy} = 0 \quad \square$$

$$(2) z = \tan^{-1}\left(\frac{y}{x}\right) = \tan^{-1} w, \quad w = \frac{y}{x}$$

$$z_x = z_w w_x = \frac{1}{1+w^2} \left(-\frac{y}{x^2}\right) = \frac{1}{1+\left(\frac{y}{x}\right)^2} \left(-\frac{y}{x^2}\right) = -\frac{y}{x^2 + y^2}$$

$$z_y = z_w w_y = \frac{1}{1+w^2} \cdot \frac{1}{x} = \frac{1}{1+\left(\frac{y}{x}\right)^2} \cdot \frac{1}{x} = \frac{x}{x^2 + y^2}$$

したがって

$$z_{xx} = \frac{2xy}{(x^2 + y^2)^2}, \quad z_{yy} = -\frac{2xy}{(x^2 + y^2)^2}$$

$$\therefore z_{xx} + z_{yy} = 0 \quad \square$$

問題 4.3 の 7 (3)

$$f(x, y) = x^3 + y^3 + x^2 + 2xy + y^2$$

$$\begin{cases} f_x = 3x^2 + 2x + 2y = 0 & \dots \textcircled{1} \\ f_y = 3y^2 + 2x + 2y = 0 & \dots \textcircled{2} \end{cases}$$

$$\textcircled{1} - \textcircled{2} \text{ より } 3(x^2 - y^2) = 0 \quad \therefore (x+y)(x-y) = 0$$

$$\therefore x+y=0 \text{ 又は } x-y=0$$

• $y = -x$ のとき $\textcircled{1}$ より $x^2 = 0 \quad \therefore x = 0$
 \Rightarrow とき $y = 0$ より $(x, y) = (0, 0)$

• $y = x$ のとき $\textcircled{1} \Rightarrow \lambda | 2$

$$3x^2 + 4x = 0 \quad x(3x + 4) = 0$$

$$\therefore x = 0 \text{ 又は } x = -\frac{4}{3}$$

$x = 0$ のときは 上と同じ

$$x = -\frac{4}{3} \text{ のとき } y = -\frac{4}{3} \quad \therefore (x, y) = \left(-\frac{4}{3}, -\frac{4}{3}\right)$$

次に

$$\begin{cases} f_{xx} = 6x + 2 = 2(3x + 1), & f_{xy} = 2 \\ f_{yy} = 6y + 2 = 2(3y + 1) \end{cases}$$

• $(x, y) = (0, 0)$ のとき

$$f_{xx} = f_{xy} = f_{yy} = 2$$

$$D = f_{xx}f_{yy} - (f_{xy})^2 = 0. \quad D \in \{0\} \text{ 判定できない}$$

$$y = -x \quad \text{or} \quad y = 2x$$

$$f(x, -x) = 0$$

So $(x, y) = (0, 0)$ is a local extremum.

• $(x, y) = \left(-\frac{4}{3}, -\frac{4}{3}\right)$ is a

$$f_{xx} = f_{yy} = -6, \quad f_{xy} = 2$$

$$D = f_{xx}f_{yy} - (f_{xy})^2 = 36 - 4 = 32 > 0$$

Since $f_{xx} = -6 < 0$, $(x, y) = \left(-\frac{4}{3}, -\frac{4}{3}\right)$ is a local maximum.

$$\begin{aligned} f\left(-\frac{4}{3}, -\frac{4}{3}\right) &= 2\left(-\frac{4}{3}\right)^3 + 4\left(-\frac{4}{3}\right)^2 \\ &= -2\left(\frac{4}{3}\right)^3 + 4\left(\frac{4}{3}\right)^2 = \left(\frac{4}{3}\right)^2 \end{aligned}$$